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What 1s AUC?

** Area under the conc. curve (AUC) is a measure
of the total systemic exposure of a drug.

** In practice, the drug concentration is measured
at certain discrete points 1n time and the
trapezoidal rule is used to estimate AUC.
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CALCULATION
METHODS

Cut & Weigh
method
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°* We can calculate the AUC of each segment if we consider the segments
to be trapezoids
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Cp0 by extrapolation, while Final segment can be calculated from t last to t infinity.

* The first segment can be calculated after determining the zero plasma concentration
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Cp (mg/ml)

plasma conc. versus time curve




Time Conc. log cone
(hr) (mg/L) |
0 ?(100) 2 (from curve)
i) 71 1.851258349
2 50 1.698970004
S 35 1.544068044
4 25 1.397940009
6 12 1.079181246
8 6.2 0.792391689
10 3.1 0.491361694

log conc vs time curve

From extrapolation the y intercept is 2 which represent the log conc. At zero time so conc. At
zero time is 100 ( to convert log to number we take the In 2)




Time Conc.
(hr) (mg/ L) log conc. AUC

0 100 2

1 71 1.851258349 85.5 AUC1
2 50 1.698970004 60.5 AUC?2
3 35 1.544068044 42.5 AUC3
4 25 1.397940009 30 AUC4
6 12 1.079181246 37 AUC5
8 6.2 0.792391689 18.2 AUC6
10 8.1 0.491361694 ? AUC last

S ———————



By
\}a

W
)
o
Ay

e g
. \.-?'_}l_{'l'-}ﬁ v
A "3 L\x\}
Uaivtaly

AL
W
etk
W

AT
R
»hin
TR

Y

RS
- ‘\( o\
3
i
W

AL
o

Step3 AUC, .. calculation:

C
1. AUC, = ‘;{La“
(S

2.ke = —2,303 * slope
3.slope = —[log(conc last) — log conc (last — 1)]/ [T (last)-T (last-1)]

So slope=- 0.15,
Ke=-2.303*-0.15=0.346
Then AUC last = 8.94
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Time Conc.

(hr) (mg /L) log conc. AUC
0 100 2
1 71 1.851258349 85.5 AUC1
2 50 1.698970004 60.5 AUC?2
3 35 1.544068044 42.5 AUC3
4 25 1.397940009 30 AUC4
6 12 1.079181246 37 AUC5
8 6.2 0.792391689 18.2 AUCG6
10 3.1 0.491361694 |8.943098 |AUC last




Step4 AUC. . calculation

AUC, , =AUC,, +AUC, ., +AUC, .,

)

l

(t, -t

o 3P

2

'ty -t,)

l

2

CrotCpi,,  CritCp,
Cp, +Cp,s
2

kel

$




Time Conc.

(hr) (mg /L) log conc. AUC

0 100 2
1 71 1.851258349 85.5 AUCI1
2 50 1.698970004 60.5 AUC?2
3 35 1.544068044 42.5 AUC3
4 25 1.397940009 30 AUC4
6 12 1.079181246 37 AUC5
8 6.2 0.792391689 18.2 AUC6
10 3.1 0.491361694 |8.943098 |AUC last

AUC 1o7AL 282.6431




Thank you for
your attention




